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le; % nks ?k.Vs iw.kk±d % 200

ç'uksa ds mÙkj ds fy,s dsoy dkys ckWy&IokWbaV isu dk ç;ksx djsaA

vH;FkhZ mÙkj&i=kd ij mÙkj nsus ls igys lHkh vuqns'kksa dks lko/kuhiwoZd i<+ ysaA

vkidks vius lHkh mÙkj dsoy mÙkj-i=kd ij gh nsus gSaA ijh{kk ds mijkar mÙkj&i=kd dh ewy çfr fujh{kd dks lkSai nsaA

egÙoiw.kZ vuqns'k
1.	 lHkh ç'uksa ds mÙkj nsaA lHkh ç'uksa ds vad leku gSaA

2.	 mÙkj&i=kd ij vH;FkhZ viuk lgh vuqØekad] fo"k;] ç'u&i=k dk lgh dksM ,oa lhjht vafdr djsa vU;Fkk mÙkj&i=kd 

	 dk ewY;kadu ugha fd;k tk,xk vkSj mldh ftEesnkjh Lo;a vH;FkhZ dh gksxhA

3.	 bl ijh{k.k iqfLrdk esa 100 ç'u gSaA çR;sd ç'u ds pkj (4) oSdfYid mÙkj ç'u ds uhps fn, x, gSaA bu pkjksa esa 
ls dsoy ,d gh lgh mÙkj gSA ftl mÙkj dks vki lgh ;k lcls mfpr le>rs gSa] mÙkj&i=kd esa mlds v{kj okys o`Ùk 
dks dkys ckWy&IokWbaV isu ls iwjk dkyk dj nsaA

4.	 vuqØekad ds vykok ijh{k.k iqfLrdk ds doj ist ij dqN u fy•saA jiQ dk;Z ds fy, ijh{k.k iqfLrdk ds vUr esa fn, 
x, nks i`"Bksa dk ç;ksx djsaA

5.	 ç'u iqfLrdk esa lHkh ç'u (ç'u la[;k 1 ls 38 ds flok;) vaxzsth o fgUnh nksuksa Hkk"kkvksa esa eqfær gSaA f}Hkk"kh (fgUnh 

@ vaxzsth) esa fdlh Hkh vLi"Vrk ds ekeys esa vaxzsth laLdj.k çHkkoh gksxk A

6.	 ijh{k.k iqfLrdk •ksyus ds rqjUr ckn tk¡p djds ns• ysa fd ijh{k.k iqfLrdk ds lHkh ist Hkyh&Hkk¡fr Nis gq, gSaA ;fn 
ijh{k.k iqfLrdk esa dksbZ deh gks] rks fujh{kd dks fn•kdj mlh lhjht o dksM dh nwljh ijh{k.k iqfLrdk çkIr dj ysaA

7.	 xyr mÙkjksa ds fy, n.M %

	 mÙkj&i=kd esa mEehnokj }kjk fn, x, xyr mÙkjksa ds fy, n.M fn;k tk,xkA

	(i)	 çR;sd ç'u ds fy, pkj oSdfYid mÙkj gSaA vH;FkhZ }kjk çR;sd ç'u ds fy, fn, x, ,d xyr mÙkj ds fy, 
ç'u gsrq fu;r fd, x, vadksa dk ,d-frgkbZ n.M ds :i esa dkVk tk,xkA

	(ii)	 ;fn dksbZ vH;FkhZ ,d ls vf/d mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] ;|fi fn, x, mÙkjksa esa ls ,d 
mÙkj lgh gksrk gS] fiQj Hkh ml ç'u ds fy, mi;ZqÙkQkuqlkj gh mlh rjg dk n.M fn;k tk,xkA

	(iii)	 ;fn vH;FkhZ }kjk dksbZ ç'u gy ugha fd;k tkrk gS vFkkZr~ vH;FkhZ }kjk mÙkj ugha fn;k tkrk gS] rks ml ç'u ds 
fy, dksbZ n.M ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysaA

Note: English version of the instructions is printed on the back cover of this Booklet.

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysaA

viuk vuqØekad lkeus ckWDl ds vanj fy[ksa
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1.	 v/ksfyf•r esa ls 'kq¼ orZuh okyk 'kCn gS &
(a)	 euksdkeuk
(b)	 lrksxq.k 
(c)	 yC/çfrf"Br
(d)	 iqu%jpuk 

2.	 fuEufyf•r esa ls dkSu lk 'kCn rn~Hko gS &
(a)	 dk;Z
(b)	 fç; 
(c)	 dqgklk
(d)	 HkDr

3.	 ^'k*] ^"k*] ^l* dk mPpkj.k LFkku Øe'k% gSa&
(a)	 rkyO;] ew/ZU;] naR;
(b)	 ew/ZU;] naR;] rkyO;
(c)	 naR;] rkyO;] ew/ZU;
(d)	 daBÔ] rkyO;] ew/ZU;

4.	 fuEufyf•r esa ls dkSu lk 'kCn rRle gS &
(a)	 pk¡n
(b)	 Lusg
(c)	 iÙkk 
(d)	 gYnh 

5.	 fuEufyf•r esa ls dkSu lgh lqesfyr gS & 
(a)	 'kq"d&rRle
(b)	 cgknqj&ns'kt 
(c)	 fdydkjh&fons'kt 
(d)	 lkSHkkX;&rn~Hko

6.	 vkRek dk i;kZ;okph 'kCn ugha gS &
(a)	 {ks=kK
(b)	 iq#"k
(c)	 çk.k 
(d)	 niZ 

7.	 vusdkFkhZ 'kCn ^ve`r* dk buesa ls ,d vFkZ ugha 
gS&
(a)	 baæ
(b)	 lw;Z
(c)	 czã 
(d)	 f'ko 

8.	 buesa ls foykse 'kCnksa dk lgh ;qXe ugha gS &
(a)	 dqfVy&½tq
(b)	 xkSjo&yk?ko 
(c)	 'k;u&'kk'or
(d)	 dqlqe&ctz

9.	 buesa ls Ñ".k dk laf/&foPNsn gS&
(a)	 Ñ $ "k.k
(b)	 Ñ $ "ku

(c)	 Ñ"k~ $ .k
(d)	 Ñ"k~ $ u

10.	 ¶nk¡r dkVh jksVh¸ eqgkojs dk vFkZ gS& 
(a)	 xgjh fe=krk
(b)	 xgjh nq'euh 
(c)	 ykyph gksuk 
(d)	 ikxy gksuk

11.	 ^vuq:i* esa dkSu lk lekl gS&
(a)	 rRiq#"k
(b)	 vO;;hHkko 
(c)	 cgqczhfg
(d)	 f}xq

12.	 fuEufyf•r esa ls vfodkjh 'kCn gS&
(a)	 laKk
(b)	 loZuke
(c)	 fo'ks"k.k 
(d)	 fØ;k&fo'ks"k.k 

13.	 fuEufyf•r esa ls dkSu lh cksyh if'peh fganh dk 
Hkkx ugha gS&
(a)	 cqUnsyh 
(b)	 dUuksth 
(c)	 c?ksyh
(d)	 cztHkk"kk 

14.	 fuEufyf•r esa ls dkSu lh cksyh iwohZ fganh dk Hkkx 
gS&
(a)	 vo/h 
(b)	 Hkkstiqjh
(c)	 exgh 
(d)	 eSfFkyh 

15.	 ckYVh vkSj iknjh fdl Hkk"kk ds 'kCn gS&
(a)	 Úsap 
(b)	 iQkjlh 
(c)	 iqrZxkyh 
(d)	 vjch 

ç'u la[;k 16 ls 20 ds fy,%
v/ksfyf•r x|ka'k dks è;ku ls if<+;s rFkk ç'u la[;k 16 ls 
20 ds mÙkj bl x|ka'k ds vk/kj ij nhft;s%
ftu deks± esa fdlh çdkj dk d"V ;k gkfu lgus dk lkgl 
visf{kr gksrk gS] mu lcds çfr mRdaBkiw.kZ vkuan mRlkg ds 
varxZr fy;k tkrk gSA d"V ;k gkfu ds Hksn ds vuqlkj mRlkg 
ds Hkh Hksn gks tkrs gSaA lkfgR; ehekaldksa us blh n`f"V ls 
;q¼ohj] nkuohj] bR;kfn Hksn fd;s gSaA buesa lcls çkphu vkSj 
ç/ku ;q¼ohjrk gS] ftlesa vk?kkr] ihM+;k ;k e`R;q dh ijokg 
ugha jgrhA bl çdkj dh ohjrk dk ç;kstu vR;ar çkphu 
dky ls pyk vk jgk gS] ftlesa lkgl vkSj ç;Ru nksuksa pje 
mRd"kZ ij igq¡prs gSaA ij dsoy d"V ;k ihM+k lgu djus ds 
lkgl esa gh mRlkg dk Lo:i LiQqfjr ugha gksrkA mlds lkFk 
vkuUniw.kZ ç;Ru ;k mldh mRdaBk dk ;ksx pkfg;sA
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16.	 lcls çkphu ohjrk dkSu&lh gS\
(a)	 okDohjrk
(b)	 nkuohjrk
(c)	 ;q¼ohjrk
(d)	 n;kohjrk

17.	 ;q¼ohjrk ds fy, fdl çdkj dh çÑfr visf{kr gS\
(a)	 prqjkbZ vkSj Hkh#rk
(b)	 papyrk vkSj vfLFkjrk
(c)	 /`"Vrk vkSj lkgl
(d)	 lkgl] ç;Ru vkSj d"V lgus dk /hjt

18.	 mRdaBkiw.kZ vkuan fdlds varxZr fy;k tkrk gS
(a)	 mRlkg ds varxZr
(b)	 ohjrk ds varxZr
(c)	 ;q¼ ds varxZr
(d)	 nku ds varxZr

19.	 lkfgR; ehekaldksa us ohjrk ds dkSu ls Hksn fd;s gSa\
(a)	 ;q¼ohj] nkuohj vkSj n;kohj
(b)	 deZohj vkSj /eZohj
(c)	 vè;olk;h vkSj bZekunkj
(d)	 'kwjohj vkSj ifjJeh

20.	 mRlkg ds Hksn fdl vk/kj ij fd;s x;s gSa\
(a)	 mRlkg ds vk/kj ij
(b)	 nqcZyrk ds vk/kj ij
(c)	 ihM+k ;k vk?kkr ds vk/kj ij
(d)	 d"V ;k gkfu ds Hksn ds vk/kj ij

21.	 ^vUo;* esa dkSu lh laf/ gS \
(a)	 xq.k laf/
(b)	 o`f¼ laf/
(c)	 ;.k laf/
(d)	 v;kfn 

22.	 v/ksfyf•r okD; esa dkSu lgh gS&
(a)	 ge rks vo'; gh tk;saxsA
(b)	 fdlh Hkh vkneh dks Hkst nksA
(c)	 pj•k dkruk pkfg,A
(d)	 ,d&,d dj lHkh ej x,A

23.	 ^ftldh bfUæ;k¡o'k esa u gks&
(a)	 vnkar
(b)	 vnk;
(c)	 vnhf{kr
(d)	 vRojk

24.	 vxsg dk vFkZ D;k gS&
(a)	 vkxs vkus ;k tkusokyk
(b)	 ftlds ikl ?kj ckj u gks
(c)	 tks xk<+k u gks 
(d)	 'kh?kzrk dk vHkko

25.	 fuEufyf•r esa ls dkSu lk 'kCn L=khfyax gS&
(a)	 laxhr
(b)	 fojg
(c)	 U;k;
(d)	 vfgalk

Instructions for Question Nos. 26 to 30: Read 
the following passage carefully and answer the 
following questions that follow:
The Amazon rainforest, often referred to as the “lungs 
of the Earth,” is the largest tropical rainforest in the 
world, spanning over 5.5 million square kilometers 
across South America. It is home to an extraordinary 
diversity of flora and fauna, including countless 
species of trees, plants, insects, birds, and mammals, 
many of which are found nowhere else on Earth.
The rainforest plays a crucial role in regulating the 
global climate by absorbing large amounts of carbon 
dioxide and producing oxygen. It also influences 
regional weather patterns and helps maintain the 
water cycle by generating moisture that contributes 
to rainfall both within and beyond the Amazon basin.
Unfortunately, the Amazon is under severe threat from 
deforestation due to logging, agricultural expansion, 
and mining activities. The loss of this critical habitat 
not only endangers the myriad species that call it 
home but also has significant implications for global 
climate stability. Conservation efforts are vital to 
preserving this ecological treasure and mitigating the 
impacts of climate change.
26.	 Why is the Amazon rainforest often called the 

“lungs of the Earth”?
(a)	 Because it produces large quantities of 

carbon dioxide
(b)	 Because it absorbs significant amounts of 

carbon dioxide and produces oxygen
(c)	 Because it is shaped like lungs
(d)	 Because it is a source of medical oxygen

27.	 How does the Amazon rainforest affect 
regional weather patterns?
(a)	 By causing droughts
(b)	 By generating moisture that contributes 

to rainfall
(c)	 By blocking sunlight
(d)	 By lowering temperatures significantly

28.	 What are some of the main threats to the 
Amazon rainforest mentioned in the passage?
(a)	 Natural forest fires and volcanic eruptions
(b)	 Logging, agricultural expansion, and 

mining
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(c)	 Earthquakes and tsunamis
(d)	 Overpopulation and urban development

29.	 What are the potential consequences of 
deforestation in the Amazon rainforest?
(a)	 Increased biodiversity
(b)	 Improved global climate stability
(c)	 Endangerment of species and disruption 

of climate stability
(d)	 Enhancement of local weather patterns

30.	 Why are conservation efforts considered vital 
for the Amazon rainforest?
(a)	 To increase logging and mining 

opportunities
(b)	 To preserve biodiversity and mitigate 

climate change impacts
(c)	 To develop new agricultural lands
(d)	 To promote urban development

31.	 Fill in the blank with the appropriate word 
given below.

	 The volcanic eruption was described as 
__________, with lava flows reaching 
unprecedented distances and causing 
irreversible damage to the surrounding areas.
(a)	 Modest
(b)	 Mild
(c)	 Cataclysmic
(d)	 Routine

32.	 Select the correct indirect speech of the given 
sentence:

	 She exclaimed, “How exciting this adventure 
is!”
(a)	 She exclaimed how exciting that 

adventure was.
(b)	 She exclaimed how exciting this 

adventure is.
(c)	 She exclaimed how exciting that 

adventure is.
(d)	 She exclaimed how exciting this 

adventure was.

33.	 Choose the correct word which is opposite in 
meaning to the given word.
Vivid
(a)	 Dull
(b)	 Bright
(c)	 Lively
(d)	 Clear

34.	 Find out the misspelled word –
(a)	 Entrepreneur
(b)	 Accommodate
(c)	 Perserverance
(d)	 Maintenance

35.	 Which of the following sentences is correctly 
punctuated? 
I.	 “Help!”, she cried. “I can’t swim!”
II.	 I don’t often go swimming: I prefer to 

play tennis.
(a)	 I only
(b)	 II only
(c)	 Both I and II
(d)	 Neither I nor II

36.	 Which of the following sentences best 
illustrates the idiom “road hog”?
(a)	 The driver was courteous and allowed 

others to merge into his lane without 
issue.

(b)	 During the traffic jam, he remained calm 
and listened to music while waiting.

(c)	 She sped past other vehicles, taking 
up more than her share of the road and 
causing frustration.

(d)	 The cyclist followed all traffic rules and 
signalled before turning.

37.	 Consider the following statements:
I.	 An exclamation mark usually shows 

strong feeling, such as surprise, anger or 
joy

II.	 Commas separate parts of a sentence into 
logical elements.

	 Which of the above statement(s) is/are 
correct?
(a)	 Only I 
(b)	 Only II 
(c)	 Both I and II 
(d)	 Neither I nor II

38.	 His __________ attitude towards the new 
project surprised his colleagues, who expected 
him to be more enthusiastic.
(a)	 Zealous
(b)	 Indifferent
(c)	 Fervent
(d)	 Eager
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39.	 The sum of three numbers is 131. If the ratio 
of the first to the second is 5:6 and that of the 
second to the third is 7:9, then the second 
number is:
(a)	 30
(b)	 36
(c)	 40
(d)	 42

40.	 Choose the number pair/group which is 
different from others- 
(a)	 9 : 90
(b)	 13 : 182
(c)	 17 : 306
(d)	 21 : 465

41.	 Select the related number from the given 
alternatives

	 18 : 649 :: 12 : ? 
(a)	 193
(b)	 223
(c)	 169
(d)	 289

42.	 A train travels from station X to Y at a speed 
of 40 km/h and returns at a speed of 80 km/h. 
If the total time for the round trip is 6 hours, 
what is the distance between the two stations?
(a)	 120 km
(b)	 150 km
(c)	 180 km
(d)	 160 km

43.	 A 5-digit number is to be formed using only 
odd digits, and repetition of digits is allowed. 
If the first digit must be 1 or 3, how many such 
numbers can be formed?
(a)	 1250
(b)	 1000
(c)	 625
(d)	 500

44.	 Ravi is ranked tenth from the top and fifteenth 
from the bottom in a class of students who 
passed an exam. If eight students did not 
appear for the exam and six failed, how many 
students were there in the class?
(a)	 35
(b)	 36

39.	 rhu la[;kvksa dk ;ksx 131 gSA ;fn igyh ls nwljh 
dk vuqikr 5%6 gS vkSj nwljh ls rhljh dk vuqikr 
7%9 gS] rks nwljh la[;k gS%
(a)	 30
(b)	 36
(c)	 40
(d)	 42

40.	 og la[;k ;qXe@lewg pqusa tks nwljksa ls fHkUu gS&
(a)	 9 % 90 
(b)	 13 % 182 
(c)	 17 % 306 
(d)	 21 % 465

41.	 fn, x, fodYiksa esa ls lacaf/r la[;k dk p;u djsa

	 18 % 649 %% 12 % \
(a)	 193 
(b)	 223 
(c)	 169 
(d)	 289

42.	 ,d jsyxkM+h LVs'ku X ls Y rd 40 fdeh@?kaVk dh 
xfr ls ;k=kk djrh gS vkSj 80 fdeh@?kaVk dh xfr 
ls okil vkrh gSA ;fn vkus&tkus dk dqy le; 6 
?kaVs yxrk gS] rks nksuksa LVs'kuksa ds chp dh nwjh D;k 
gS\
(a)	 120 fdeh
(b)	 150 fdeh
(c)	 180 fdeh
(d)	 160 fdeh

43.	 dsoy fo"ke vadksa dk mi;ksx djds 5 vadksa dh 
la[;k cukbZ tkuh gS] vkSj vadksa dh iqujko`fÙk dh 
tk ldrh gSA ;fn la[;k dk igyk vad 1 ;k 3 
gksuk vfuok;Z gks] rks ,slh fdruh la[;k,¡ cukbZ tk 
ldrh gSa\
(a)	 1250
(b)	 1000
(c)	 625
(d)	 500

44.	 ijh{kk mÙkh.kZ djus okys Nk=kksa dh ,d d{kk esa jfo 
Åij ls nlosa vkSj uhps ls iaægosa LFkku ij gSA 
;fn vkB Nk=k ijh{kk esa 'kkfey ugha gq, vkSj Ng 
vuqÙkh.kZ gq,] rks d{kk esa fdrus Nk=k Fks\
(a)	 35 
(b)	 36 
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(c)	 37
(d)	 38

45.	 A girl is facing South. She turns 225° in the 
anti-clock wise direction and then 180° in the 
clock-wise direction. Which direction is she 
facing now?

(a)	 East
(b)	 South-East
(c)	 South-West
(d)	 West

46.	 What does the expression “throw in the towel” 
mean?

(a)	 To give up
(b)	 To start a new project
(c)	 To finish a task early
(d)	 To clean up after an event

47.	 In a farm, there are cows and chickens. If the 
total number of heads is 150 and the total 
number of legs is 440, how many cows are 
there?

(a)	 55
(b)	 65
(c)	 45
(d)	 70

48.	 In an election contested by two candidates, 
one candidate got 35% of total votes and still 
lost by 360 votes, then find the total number of 
votes casted.

(a)	 1250
(b)	 1200
(c)	 1150
(d)	 975

49.	 Find the next number in the following series:

	 1, 10, 30, 68, 130, ?

(a)	 178
(b)	 164
(c)	 212
(d)	 222

50.	 Find the odd one out:

(a)	 BN 12
(b)	 HR 10

(c)	 37 
(d)	 38

45.	 ,d yM+dh nf{k.k dh vksj eqag djds •M+h gSA og 
?kM+h dh lqbZ dh foijhr fn'kk esa 2250 eqM+rh gS 
vkSj fiQj ?kM+h dh lqbZ dh foijhr fn'kk esa 1800 
eqM+rh gSA vc og fdl fn'kk dh vksj eqag djds 
•M+h gS\
(a)	 iwoZ 
(b)	 nf{k.k&iwoZ 
(c)	 nf{k.k&if'pe 
(d)	 if'pe

46.	 ¶rkSfy;k iQsaduk¸ dk D;k vFkZ gS\
(a)	 gkj eku ysuk 
(b)	 dksbZ u;k çkstsDV 'kq: djuk
(c)	 fdlh dke dks tYnh •Re djuk
(d)	 fdlh ?kVuk ds ckn liQkbZ djuk

47.	 ,d •sr esa xk; vkSj eqfxZ;k¡ gSaA ;fn fljksa dh dqy 
la[;k 150 gS vkSj iSjksa dh dqy la[;k 440 gS] rks 
xk;ksa dh la[;k fdruh gS\
(a)	 55 
(b)	 65 
(c)	 45 
(d)	 70

48.	 nks mEehnokjksa }kjk yM+s x, pquko esa] ,d mEehnokj 
dks dqy oksVksa dk 35» feyk vkSj fiQj Hkh og 360 
oksVksa ls gkj x;k] rks Mkys x, oksVksa dh dqy la[;k 
Kkr dhft,A
(a)	 1250 
(b)	 1200 
(c)	 1150 
(d)	 975

49.	 fuEufyf•r J`a•yk esa vxyk uacj Kkr djsa%

	 1] 10] 30] 68] 130] \
(a)	 178 
(b)	 164 
(c)	 212 
(d)	 222

50.	 fo"ke in dks Kkr djsa%
(a)	 BN 12 
(b)	 HR 10 
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(c)	 RD 14
(d)	 PZ 12  

51.	 A problem-solving technique that encourages 
free thinking and withholding judgment to 
generate as many solutions as possible is 
called:
(a)	 Mindstorming
(b)	 Brainstorming
(c)	 SWOT analysis
(d)	 Scenario analysis

52.	 Which of the following statements is NOT 
correct?
(a)	 All birds can fly.
(b)	 Some animals are mammals.
(c)	 No fish can walk.
(d)	 All roses have thorns.

53.	 Which of the following could be considered 
a psychological barrier to effective 
communication?
(a)	 Technical malfunction of communication 

devices
(b)	 Lack of familiarity with the subject 

matter
(c)	 Speaker’s lack of confidence or anxiety
(d)	 Disruptive physical environment

54.	 In communication systems, which component 
is responsible for converting the message into 
a form suitable for transmission?
(a)	 Decoder
(b)	 Channel
(c)	 Encoder
(d)	 Receiver

55.	 What type of communication barrier is 
illustrated by a lack of attention or disinterest 
from the audience during a presentation?
(a)	 Semantic barrier
(b)	 Physical barrier
(c)	 Psychological barrier
(d)	 Environmental barrier

56.	 In oral communication, which technique is 
most effective for ensuring that complex 
information is clearly understood by a diverse 
audience?
(a)	 Using technical jargon to demonstrate 

expertise
(b)	 Providing a detailed written summary 

after the speech

(c)	 RD 14 
(d)	 PZ 12

51.	 ,d leL;k&lek/ku rduhd tks ;FkklaHko vf/d 
ls vf/d lek/ku çLrqr djus ds fy, Lora=k lksp 
vkSj ^fu.kZ; dks jksdus* dks çksRlkfgr djrh gS] mls 
dgk tkrk gS%
(a)	 cqf¼'khyrk
(b)	 fopkj eaFku
(c)	 SWOT fo'ys"k.k
(d)	 ifjn`'; fo'ys"k.k

52.	 fuEufyf•r esa ls dkSu lk dFku lgh ugha gS\
(a)	 lHkh i{kh mM+ ldrs gSaA
(b)	 dqN tkuoj Lru/kjh gSaA
(c)	 dksbZ Hkh eNyh ugha py ldrhA
(d)	 lHkh xqykcksa esa dkaVs gksrs gSaA

53.	 fuEufyf•r esa ls fdls çHkkoh lapkj ds fy, 
euksoSKkfud ck/k ekuk tk ldrk gS\
(a)	 lapkj midj.kksa dh rduhdh •jkch
(b)	 fo"k; oLrq ls ifjfpr u gksuk
(c)	 oDrk dk vkRefo'okl ;k fpark dh deh
(d)	 fo?kVudkjh HkkSfrd okrkoj.k

54.	 lapkj ç.kkfy;ksa esa] dkSu lk ?kVd lans'k dks lapj.k 
ds fy, mi;qDr :i esa ifjofrZr djus ds fy, 
ftEesnkj gS\ 
(a)	 fMdksMj@ dwVokpd
(b)	 pkSuy@ ekè;e
(c)	 ,udksMj @ dwVysf•=k
(d)	 fjlhoj@ çkIrdrkZ

55.	 çLrqfr ds nkSjku n'kZdksa dh vksj ls è;ku dh deh 
;k v#fp fdl çdkj dh lapkj ck/k dks n'kkZrh gS\
(a)	 vFkZ laca/h ck/k
(b)	 'kkjhfjd ck/k
(c)	 euksoSKkfud ck/k
(d)	 i;kZoj.kh; ck/k

56.	 ekSf•d lapkj esa] ;g lqfuf'pr djus ds fy, dkSu 
lh rduhd lcls çHkkoh gS fd ^tfVy tkudkjh* 
fofo/ çdkj ds n'kZdksa }kjk Li"V :i ls le>h 
tk,\ 
(a)	 fo'ks"kKrk çnf'kZr djus ds fy, rduhdh 

'kCntky dk mi;ksx djuk 
(b)	 Hkk"k.k ds ckn ,d foLr`r fyf•r lkjka'k çnku 

djuk 
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(c)	 Utilizing analogies and examples relevant 
to the audience’s experience

(d)	 Speaking rapidly to cover more 
information quickly

57.	 What is the most effective method for a 
speaker to ensure their message is memorable 
and impactful?

(a)	 Using complex vocabulary to impress the 
audience

(b)	 Repeating key points throughout the 
presentation

(c)	 Relying on a detailed script for accuracy
(d)	 Focusing solely on delivering factual 

information

58.	 Which aspect of paralanguage is used to 
convey sarcasm or irony?

(a)	 Speech rate
(b)	 Facial expressions
(c)	 Tone of voice
(d)	 Body language

59.	 Find the correct alternative from the following: 

Architect : Blueprint :: Composer : ?
(a)	 Score
(b)	 Manuscript
(c)	 Instrument
(d)	 Symphony

60.	 A product is marked 40% above its cost price. 
If a discount of 25% is given on the marked 
price, what is the profit percentage?

(a)	 4%
(b)	 7.5%
(c)	 7.25%
(d)	 5%

61.	 15 observations are arranged in ascending 
order. If the arithmetic mean of observations 
at even places is 12 and at odd places is 15, 
what is the mean of all 15 observations?

(a)	 2.4
(b)	 14.4
(c)	 11.6
(d)	 13.6 

(c)	 n'kZdksa ds vuqHko ls lacaf/r miekvksa vkSj 
mnkgj.kksa dk mi;ksx djuk 

(d)	 vf/d tkudkjh dks tYnh ls doj djus ds 
fy, rsth ls cksyuk 

57.	 fdlh oDrk ds fy, ;g lqfuf'pr djus dk lcls 
çHkkoh rjhdk D;k gS fd mudk lans'k ;knxkj vkSj 
çHkko'kkyh gks\ 
(a)	 n'kZdksa dks çHkkfor djus ds fy, tfVy 

'kCnkoyh dk mi;ksx djuk 
(b)	 iwjs çLrqfrdj.k esa eq[; fcanqvksa dks nksgjkuk 
(c)	 lVhdrk ds fy, ,d foLr`r fLØIV ij fuHkZj 

jguk 
(d)	 dsoy rF;kRed tkudkjh nsus ij è;ku dsafær 

djuk 

58.	 O;aX; ;k foMacuk O;Dr djus ds fy, ^iSjkySaXost* 
ds fdl igyw dk mi;ksx fd;k tkrk gS\
(a)	 okrkZ çokg
(b)	 psgjs ds Hkko
(c)	 vkokt dk ygtk
(d)	 'kkjhfjd Hkk"kk

59.	 fuEufyf•r esa ls lgh fodYi pqusa%

	 okLrqdkj % CywfçaV@uD'kk %% laxhrdkj % \
(a)	 Loj fyfi
(b)	 ikaMqfyfi
(c)	 ok| ;a=k
(d)	 flEiQuh

60.	 fdlh mRikn ij mldh ykxr ewY; ls 40» vf/d 
ewY; vafdr gSA ;fn vafdr ewY; ij 25» dh NwV 
nh tkrh gS] rks ykHk çfr'kr D;k gS\
(a)	 4» 
(b)	 7-5»
(c)	 7-25»
(d)	 5»

61.	 15 çs{k.kksa dks vkjksgh Øe esa O;ofLFkr fd;k x;k 
gSA ;fn le LFkkuksa ij çs{k.kksa dk vadxf.krh; ekè; 
12 gS vkSj fo"ke LFkkuksa ij 15 gS] rks lHkh 15 
çs{k.kksa dk ekè; D;k gS\
(a)	 12-4 
(b)	 14-4 
(c)	 11-6
(d)	 13-6
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62.	 A seller earns a profit equal to the selling price 
of 8 items after selling 40 items. What is the 
profit percentage?

(a)	 20%
(b)	 22%
(c)	 25%
(d)	 40%

63.	 Find the missing number in the series: 1, 1, 2, 
6, 24, ? 

(a)	 64
(b)	 72
(c)	 108
(d)	 120

64.	 Arithmetic mean of first n odd numbers is 

(a)	 n
(b)	 n-2
(c)	 n/2
(d)	 n+1 

65.	 The total range of possible solutions and 
actions available when solving a problem is 
known as:

(a)	 Cognitive Load
(b)	 Problem Space
(c)	 Solution Space
(d)	 Action Schema

66.	 What is a primary reason for using heuristics 
in decision-making?
(a)	 They guarantee a comprehensive analysis 

of all possible outcomes
(b)	 They simplify complex problems by 

providing shortcuts to solutions
(c)	 They always lead to the optimal solution
(d)	 They require detailed and extensive data 

collection

67.	 A monkey climbs a 20-meter high slippery 
pillar. In the first minute, he climbs 4 meters 
and in the next minute, he slips 3 meters down. 
How long will it take him to reach the top?

(a)	 34 min
(b)	 35 min
(c)	 36 min
(d)	 37 min

62.	 ,d foØsrk 40 oLrqvksa dks cspus ds ckn 8 oLrqvksa 
ds foØ; ewY; ds cjkcj ykHk dekrk gSA ykHk 
çfr'kr D;k gS\
(a)	 20» 
(b)	 22» 
(c)	 25» 
(d)	 40»

63.	 1] 1] 2] 6] 24] \  Ük`a•yk esa yqIr la[;k Kkr djsa% 
(a)	 64 
(b)	 72 
(c)	 108 
(d)	 120 

64.	 çFke n fo"ke la[;kvksa dk vadxf.krh; ekè; gS
(a)	 n 
(b)	 n&2 
(c)	 n@2 
(d)	 n$1

65.	 fdlh leL;k dks gy djrs le; miyC/ laHkkfor 
lek/kuksa vkSj fØ;kvksa dh dqy lhek dks bl :i 
esa tkuk tkrk gS%
(a)	 laKkukRed Hkkj
(b)	 leL;k LFkku
(c)	 lek/ku LFkku
(d)	 dkjZokbZ ;kstuk

66.	 fu.kZ; ysus esa ^Lor% 'kks/ ç.kkyh* (gs;qfjfLVDl) 
dk mi;ksx djus dk eq[; dkj.k D;k gS\
(a)	 ;g lHkh laHkkfor ifj.kkeksa ds O;kid fo'ys"k.k 

dh xkjaVh nsrh gS
(b)	 ;g lek/ku ds fy, 'kkWVZdV çnku djds 

tfVy leL;kvksa dks ljy cukrh gS
(c)	 ;g ges'kk b"Vre lek/ku dh vksj ys tkrs gS
(d)	 blds fy, foLr`r vkSj O;kid MsVk laxzg dh 

vko';drk gksrh gS

67.	 ,d canj 20 ehVj Å¡ps fiQlyu Hkjs •aHks ij p<+rk 
gSA igys feuV esa og 4 ehVj p<+rk gS vkSj vxys 
feuV esa og 3 ehVj uhps fiQly tkrk gSA mls 'kh"kZ 
ij igq¡pus esa fdruk le; yxsxk\
(a)	 34 feuV
(b)	 35 feuV
(c)	 36 feuV

(d)	 37 feuV
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68.	 In a survey, 15% of the respondents preferred 
option A. If the survey results are shown on a 
pie chart, what is the central angle for option 
A?
(a)	 54°
(b)	 62°
(c)	 108°
(d)	 72°

69.	 The average temperature of 1st, 2nd 
3rd December was 24.4°C. The average 
temperature of the first two days was 24°C. 
The temperature on the 3rd of December was
(a)	 20°C
(b)	 25°C
(c)	 25.2°C
(d)	 None of these

70.	 A cask contains a mixture of 49 litres of wine 
and water in the proportion 5:2. How much 
water must be added to it so that the ratio of 
wine to water may be 7:4?
(a) 3.5
(b)	 6
(c)	 751
(d)	 None of these

71.	 Preeti sells her goods 25% cheaper than  
Shweta and 25% dearer than Divya, How 
much percentage is Divya's goods cheaper 
than Shweta's?
(a)	 33.33%
(b)	 50%
(c)	 66.66%
(d)	 40%

72.	 A is four times as efficient of B and can finish 
a task 45 days ahead of B. Find total number 
of days required to finish the task if both are 
working simultaneously.
(a)	 10
(b)	 14
(c)	 12
(d)	 None of these

73.	 How many triangle can be formed by 18 points 
if all are non collinear.
(a)	 800 ways
(b)	 750 ways

68.	 ,d loZs{k.k esa] 15» mÙkjnkrkvksa us fodYi A dks 
çkFkfedrk nhA ;fn loZs{k.k ds ifj.kke ikbZ pkVZ ij 
fn•k, tkrs gSa] rks fodYi A ds fy, dsaæh; dks.k 
D;k gS\
(a)	 54° 
(b)	 62°
(c)	 108°
(d)	 72°

69.	 1] 2 vkSj 3 fnlacj dk vkSlr rkieku 24-4°C 
FkkA igys nks fnuksa dk vkSlr rkieku 24°C FkkA 3 
fnlacj dks rkieku Fkk
(a)	 20℃
(b)	 25°C
(c)	 25.2°C
(d)	 buesa ls dksbZ ugha

70.	 ,d ihis esa 5%2 ds vuqikr esa 49 yhVj okbu vkSj 
ikuh dk feJ.k gSA blesa fdruk ikuh feyk;k tkuk 
pkfg, rkfd okbu vkSj ikuh dk vuqikr 7%4 gks 
tk,\
(a)	 3-5
(b)	 6
(c)	 751
(d)	 buesa ls dksbZ ugha

71.	 çhfr viuk eky 'osrk ls 25» lLrk vkSj fnO;k ls 
25» egaxk csprh gS] fnO;k dk eky 'osrk ds eky 
ls fdruk çfr'kr lLrk gS\
(a)	 33-33»
(b)	 50»
(c)	 66-66»
(d)	 40»

72.	 A] B ls pkj xquk vf/d dq'ky gS vkSj B ls 45 
fnu igys dk;Z iwjk dj ldrk gSA ;fn nksuksa ,d 
lkFk dke dj jgs gSa] rks dk;Z iwjk djus ds fy, 
vko';d fnuksa dh dqy la[;k Kkr dhft,A
(a)	 10
(b)	 14
(c)	 12
(d)	 bues ls dksbZ ugha

73.	 18 fcanqvksa ls fdrus f=kHkqt cuk, tk ldrs gSa ;fn 
lHkh vlajs•h; gksaA
(a)	 800 rjhds 
(b)	 750 rjhds
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(c)	 816 ways
(d)	 None of these

74. 	 If all sides of a triangle are increased by 200% 
the area of the triangle will increase by

(a)	 400%
(b)	 600%
(c)	 800%
(d)	 None of these

75.	 Select the number which is different from the 
others:

(a)	 202
(b)	 404
(c)	 606
(d)	 808

76.	 Which of the following is used to evaluate 
the likelihood of a conclusion based on the 
evidence provided?

(a)	 Deductive reasoning
(b)	 Inductive reasoning
(c)	 Mathematical reasoning
(d)	 Syllogistic reasoning

77.	 For any two sets A and B, B−(A∩B) equals to:

(a)	 B∩A
(b)	 B−A
(c)	 A−B
(d)	 B∪A

78.	 John is taller than Maria but not as tall as 
Kevin. Kevin is taller than Laura but not as 
tall as Alex. Who is the tallest?

(a)	 John
(b)	 Maria
(c)	 Alex
(d)	 Laura

79.	 Which type of decision maker emphasizes 
quick decisions and clear, straightforward 
solutions?

(a)	 Analytic
(b)	 Behavioral
(c)	 Directive
(d)	 Conceptual

(c)	 816 rjhds

(d)	 bues ls dksbZ ugha

74.	 ;fn fdlh f=kHkqt dh lHkh Hkqtkvksa esa 200» dh 
o`f¼ dh tk, rks f=kHkqt dk {ks=kiQy fdruk c<+ 
tk,xk

(a)	 400»

(b)	 600»

(c)	 800»

(d)	 buesa ls dksbZ ugha

75.	 og la[;k pqusa tks vU; ls fHkUu gS%

(a)	 202 

(b)	 404 

(c)	 606 

(d)	 808

76.	 fuEufyf•r esa ls fdldk mi;ksx fn, x, lk{; ds 
vk/kj ij fu"d"kZ dh laHkkouk dk ewY;kadu djus 
ds fy, fd;k tkrk gS\ 

(a)	 fuxeukRed rdZ 

(b)	 vkxeukRed rdZ 

(c)	 xf.krh; rdZ 

(d)	 U;k;okD; rdZ 

77.	 fdlh Hkh nks leqPp; A vkSj B ds fy,] B−(A∩B) 
cjkcj gS%

(a)	 B∩A
(b)	 B−A
(c)	 A−B
(d)	 B∪A

78.	 tkWu ekfj;k ls yack gS ysfdu dsfou ftruk yack 
ugha gSA dsfou ykWjk ls yack gS ysfdu ,ysDl ftruk 
yack ugha gSA lcls yack dkSu gS\

(a)	 tkWu

(b)	 ekfj;k

(c)	 ,ysDl

(d)	 ykWjk

79.	 fdl çdkj ds fu.kZ; fuekZrk Rofjr fu.kZ; vkSj 
Li"V] lh/s lek/ku ij tksj nsrs gSa\ 

(a)	 fo'ys"k.kkRed 

(b)	 O;ogkfjd 

(c)	 funZs'kkRed 

(d)	 oSpkfjd 
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80.	 How many times does the digit ‘0’ appear 
when writing all the numbers from 1 to 200.
(a)	 30
(b)	 31
(c)	 29
(d)	 23 

81.	 Choose the odd pair:
(a)	 Speed 	 :	 Kilometer per hour
(b)	 Time	 :	 Stopwatch
(c)	 Temperature	 :	 Celsius
(d)	 Mass	 :	 Kilogram

82.	 A sphere of radius r has the same volume as 
that of a cone with a circular base radius r. 
Find the height of cone.
(a)	 2r
(b)	 r/3
(c)	 4r
(d)	 (2/3) × r

83.	 Three metal cubes with edges 6 cm, 8 cm and 
10 cm respectively are melted together and 
formed into a single cube. Find the side of the 
resulting cube.
(a)	 11 cm
(b)	 12 cm
(c)	 13 cm
(d)	 24 cm

84.	 A bag contains four black and five red balls. If 
three balls from the bag are chosen at radom, 
what is the chance that they are all black?
(a)	 1/21
(b)	 1/20
(c)	 2/23 
(d)	 1/9

85.	 The speed of the boat in still water is 12 
km/h and the speed of the stream is 2 km/h. A 
distance of 8 km, going upstream, is covered 
in
(a)	 1h
(b)	 1 h 15 min
(c)	 1 h 12 min
(d)	 None of these

86.	 In how many ways can Ram choose a vowel and 
a consonant from the letter ALLAHABAD?
(a)	 4
(b)	 6

80.	 1 ls 200 rd lHkh la[;kvksa dks fy•rs le; vad 
'0' fdruh ckj vkrk gS\
(a)	 30
(b)	 31
(c)	 29
(d)	 23

81.	 fo"ke ;qXe pqusa%
(a)	 xfr	 %	 fdyksehVj çfr ?kaVk
(b)	 le;	 %	 LVkWiokWp
(c)	 rkieku	 %	 lsfYl;l
(d)	 æO;eku	 %	 fdyksxzke

82.	 f=kT;k r okys ,d xksys dk vk;ru r f=kT;k okys 
o`Ùkkdkj vk/kj okys 'kadq ds vk;ru ds leku gSA 
'kadq dh Å¡pkbZ Kkr dhft,A
(a)	 2r
(b)	 r/3
(c)	 4r
(d)	 (2/3) × r

83.	 rhu /krq ds ?ku ftuds fdukjs Øe'k% 6 lseh] 8 
lseh vkSj 10 lseh gSa] mUgsa fi?kykdj ,d ?ku cuk;k 
tkrk gSA ifj.kkeh ?ku dh Hkqtk Kkr dhft,A
(a)	 11 lseh
(b)	 12 lseh
(c)	 13 lseh
(d)	 24 lseh

84.	 ,d cSx esa pkj dkyh vkSj ik¡p yky xsansa gSaA ;fn 
cSx ls rhu xsansa jsMe ij pquh tkrh gSa] rks D;k 
laHkkouk gS fd os lHkh dkyh gksa\
(a)	 1@21
(b)	 1@20
(c)	 2@23
(d)	 1@9

85.	 fLFkj ty esa uko dh xfr 12 fdeh@?kaVk gS rFkk 
/kjk dh xfr 2 fdeh@?kaVk gSA /kjk ds çfrdwy fn'kk 
esa 8 fdeh dh nwjh r; djus esa
(a)	 1 ?kaVk
(b)	 1 ?kaVk 15 feuV
(c)	 1 ?kaVk 12 feuV
(d)	 buesa ls dksbZ ugh

86.	 jke fdrus rjhdksa ls bykgkckn v{kj ls ,d Loj 
vkSj ,d O;atu pqu ldrk gS\

(a)	 4

(b)	 6
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(c)	 9
(d)	 5

Direction (Qs. 87 to 88 ): Read the following 
information carefully and answer the questions 
below it.
Rahul brought some sweets on his 21st birthday. He 
offered one less than the half of total number of sweets 
in the temple near the house. He also gave one sweet 
each to 3 beggars sitting on the stairs of 'temple'. On 
the way back to home, he stopped a big group of poor 
children and gave them half of what was left with 
him. After reaching home he shared of the remaining 
two pieces of sweets with his younger brother.

87.	 How many sweets did he originally had?

(a)	 8
(b)	 10
(c)	 12
(d)	 14

88.	 How many sweets did he offered in the 
temple?

(a)	 3
(b)	 4
(c)	 5
(d)	 6

89.	 Communication that often involves non-verbal 
cues and underlying messages is known as:
(a)	 Direct communication
(b)	 Meta-communication
(c)	 Informal communication
(d)	 Formal communication

90.	 In a dataset, if the mean is greater than the 
median, which of the following is likely true 
about the distribution?
(a)	 The distribution is perfectly symmetrical.
(b)	 The distribution is skewed to the left.
(c)	 The distribution is skewed to the right.
(d)	 The distribution is normally distributed.

91.	 Which measure of central tendency is most 
affected by extreme values?
(a)	 Mean
(b)	 Median
(c)	 Mode
(d)	 Variance

(c)	 9

(d)	 5

funZs'k (ç'u 87 ls 88)% fuEufyf•r tkudkjh dks 
è;kuiwoZd i<+sa rFkk uhps fn, x, ç'uksa ds mÙkj nsaA
jkgqy vius 21osa tUefnu ij dqN feBkb;k¡ yk;kA mlus ?kj 
ds ikl fLFkr eafnj esa dqy feBkb;ksa dh la[;k ds vk/s ls 
,d de feBkbZ p<+kbZA mlus eafnj dh lhf<+;ksa ij cSBs 3 
fHk•kfj;ksa dks Hkh ,d&,d feBkbZ nhA ?kj okil vkrs le; 
mlus xjhc cPpksa ds ,d cM+s lewg dks jksdk rFkk tks dqN 
mlds ikl cpk Fkk] mldk vk/k fgLlk mUgsa ns fn;kA ?kj 
igq¡pdj mlus cph gqbZ nks feBkb;ksa esa ls vius NksVs HkkbZ 
dks ns nhA

87.	 mlds ikl ewy :i ls fdruh feBkb;k¡ Fkha\
(a)	 8
(b)	 10
(c)	 12
(d)	 14

88.	 mlus eafnj esa fdruh feBkb;k¡ p<+kbZa\

(a)	 3

(b)	 4

(c)	 5

(d)	 6

89.	 ^lapkj* ftlesa çk;% xSj&ekSf•d ladsr vkSj varfuZfgr 
lans'k ç;qDr gksrs gSa] mls dgk tkrk gS%

(a)	 çR;{k lapkj

(b)	 esVk&lapkj

(c)	 vukSipkfjd lapkj

(d)	 vkSipkfjd lapkj

90.	 fdlh MsVklsV esa] ;fn ekè; ekfè;dk ls cM+k gS] rks 
forj.k ds ckjs esa fuEufyf•r esa ls dkSu lk dFku 
lR; gS\

(a)	 forj.k iw.kZr% lefer gksrk gSA

(b)	 forj.k ckbZa vksj >qdk gqvk gksrk gSA

(c)	 forj.k nkbZa vksj >qdk gqvk gksrk gSA

(d)	 forj.k lkekU; :i ls forfjr gksrk gSA

91.	 dsaæh; ço`fÙk dk dkSu lk eki pje ewY;ksa ls lcls 
vf/d çHkkfor gksrk gS\ 

(a)	 ekè; 

(b)	 ekfè;dk 

(c)	 cgqyd 

(d)	 çlj.k 
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92.	 Which of the following data types is best 
suited for creating a histogram?

(a)	 Qualitative data
(b)	 Quantitative discrete data
(c)	 Quantitative continuous data
(d)	 Ordinal data

93.	 Arrange the following steps in the process of 
conducting an experiment:

1.	 Formulating Hypothesis
2.	 Designing Experiment
3.	 Collecting Data
4.	 Analyzing Results
5.	 Reporting Findings
(a)	 1, 2, 3, 4, 5
(b)	 2, 1, 3, 4, 5
(c)	 1, 3, 2, 4, 5
(d)	 3, 2, 1, 4, 5

94.	 What is the primary effect of using the 
“representativeness heuristic” in decision-
making?

(a)	 Overestimating the frequency of rare 
events.

(b)	 Misjudging the probability of an event 
based on its similarity to a prototype.

(c)	 Relying on recent experiences to make 
judgments.

(d)	 Ignoring statistical information in favor 
of personal anecdotes.

95.	 Given below are two statements, one is labelled 
as Statement(S) and other as Reason(R).

	 Statement (S): Active listening involves 
giving the speaker your full attention and not 
interrupting them.

	 Reason (R): Interrupting the speaker can help 
in clarifying doubts immediately and ensures 
better understanding.

(a)	 Both S and R are true, and R is the correct 
explanation for S.

(b)	 Both S and R are true, but R is not the 
correct explanation for S.

(c)	 S is true, but R is false.
(d)	 S is false, but R is true.

92.	 vk;rfp=k (fgLVksxzke) cukus ds fy, fuEufyf•r 
esa ls dkSu lk MsVk çdkj lcls mi;qDr gS\

(a)	 xq.kkRed MsVk

(b)	 ek=kkRed vlrr MsVk

(c)	 ek=kkRed fujarj MsVk

(d)	 Øfed MsVk

93.	 ^ç;ksx* djus dh çfØ;k esa fuEufyf•r pj.kksa dks 
O;ofLFkr djsa%

1.	 ifjdYiuk rS;kj djuk

2.	 ç;ksx fMtkbu djuk

3.	 MsVk ,d=k djuk

4.	 ifj.kkeksa dk fo'ys"k.k djuk

5.	 fu"d"kks± dh fjiksVZ djuk

(a)	 1] 2] 3] 4] 5

(b)	 2] 1] 3] 4] 5

(c)	 1] 3] 2] 4] 5

(d)	 3] 2] 1] 4] 5

94.	 fu.kZ; ysus esa ¶çfrfuf/Roijd vuqekuh¸ dk mi;ksx 
djus dk çkFkfed çHkko D;k gS\

(a)	 nqyZHk ?kVukvksa dh vko`fÙk dk vf/d vkdyu 
djukA

(b)	 çksVksVkbi ls bldh lekurk ds vk/kj ij fdlh 
?kVuk dh laHkkouk dk xyr vkdyu djukA

(c)	 fu.kZ; ysus ds fy, gky ds vuqHkoksa ij fuHkZj 
jgukA

(d)	 O;fDrxr mik[;kuksa ds i{k esa lkaf[;dh; 
tkudkjh dh vuns•h djukA

95.	 uhps nks dFku fn, x, gSa] ,d dks vfHkdFku (S) 
vkSj nwljs dks dkj.k (R) dgk x;k gS&

	 dFku (S)% ^lfØ; lquus* ds varxZr Jksrk dks 
^oDrk* dh vksj viuk iwjk è;ku nsuk vkSj mls 
ckf/r ugha djuk 'kkfey gksrk gSA

	 dkj.k (R)% oDrk dks ckf/r djus ls ^lansg* dks 
rqjar Li"V djus esa enn fey ldrh gS vkSj csgrj 
le> lqfuf'pr gksrh gSA

(a)	 S vkSj R nksuksa lR; gSa] vkSj R] S dk lgh 
Li"Vhdj.k gSA

(b)	 S vkSj R nksuksa lR; gSa] ysfdu R] S dk lgh 
Li"Vhdj.k ugha gSA

(c)	 S lR; gS] ysfdu R vlR; gSA

(d)	 S vlR; gS] ysfdu R lR; gSA
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96.	 Who has characterized management as 
“a social process involving responsibility 
for economical and effective planning and 
regulation of the operation of an enterprise”?

(a)	 Peter Drucker
(b)	 Henri Fayol
(c)	 George R. Terry
(d)	 Philip Kotler

97.	 Which method involves using simulations or 
models to predict future outcomes and guide 
decision-making?

(a)	 Predictive Analysis
(b)	 Descriptive Statistics
(c)	 Exploratory Research
(d)	 Qualitative Assessment

98.	 What method is effective for improving clarity 
in written communication?

(a)	 By using more elaborate and flowery 
language

(b)	 By proofreading and revising the content 
for conciseness

(c)	 By reducing the frequency of paragraph 
breaks

(d)	 By avoiding the use of bullet points

99.	 Which psychological barrier can lead to 
defensiveness when receiving feedback, 
potentially resulting in misunderstanding the 
message?

(a)	 Anxiety
(b)	 Overconfidence
(c)	 Ego Defense Mechanisms
(d)	 Lack of Empathy

100.	 What term is used to describe a problem-
solving method where solutions are iteratively 
tested and refined based on user feedback and 
results?

(a)	 Agile Development
(b)	 Waterfall Method
(c)	 Scenario Analysis
(d)	 Strategic Planning

96.	 çca/u dks ¶,d lkekftd çfØ;k ftlesa m|e 
ds lapkyu dh fdiQk;rh vkSj çHkkoh ;kstuk vkSj 
fofu;eu dh ftEesnkjh 'kkfey gS¸ ds :i esa fdlus 
of.kZr fd;k gS\

(a)	 ihVj Mªdj

(b)	 gsujh iQs;ksy

(c)	 tkWtZ vkj- Vsjh

(d)	 fiQfyi dksVyj

97.	 Hkfo"; ds ifj.kkeksa dh Hkfo";ok.kh djus vkSj fu.kZ; 
ysus esa ekxZn'kZu djus ds fy, fleqys'ku ;k ekWMy 
dk mi;ksx djus okyh dkSu lh fof/ 'kkfey gS\

(a)	 iwokZuqekukRed fo'ys"k.k

(b)	 o.kZukRed lkaf[;dh

(c)	 •kstiw.kZ vuqla/ku

(d)	 xq.kkRed ewY;kadu

98.	 fyf•r lapkj esa Li"Vrk esa lq/kj ds fy, dkSu lh 
fof/ çHkkoh gS\

(a)	 vf/d foLr`r vkSj vyaÑr Hkk"kk dk mi;ksx 
djds

(b)	 laf{kIrrk ds fy, lkexzh dk çwiQjhfMax vkSj 
la'kks/u djds

(c)	 iSjkxzkiQ czsd dh vko`fÙk dks de djds

(d)	 cqysV ikWbaV ds mi;ksx ls cpdj

99.	 dkSu lh euksoSKkfud ck/k iQhMcSd çkIr djrs 
le; j{kkRedrk dh vksj ys tk ldrh gS] ftlds 
ifj.kkeLo:i lans'k dks xyr rjhds ls le>us dh 
laHkkouk gks ldrh gS\ 

(a)	 fpark 

(b)	 vfr vkRefo'okl 

(c)	 vgadkj j{kk ra=k 

(d)	 lgkuqHkwfr dh deh 

100.	 leL;k&lek/ku fof/ dk o.kZu djus ds fy, fdl 
'kCn dk mi;ksx fd;k tkrk gS] ftles lek/kuksa dk 
ijh{k.k fd;k tkrk gS vkSj mi;ksxdrkZ dh çfrfØ;k 
vkSj ifj.kkeksa ds vk/kj ij mUgsa ifj"Ñr fd;k  
tkrk gS\

(a)	 ,tkby MsoyiesaV

(b)	 okVjiQkWy fof/

(c)	 ifjn`'; fo'ys"k.k

(d)	 j.kuhfrd ;kstuk

nnnn



[A-II-24] 022209 (16 – A)

Space for Rough Work



[A-II-24] 022209 (17 – A)

Space for Rough Work



Time  : Two Hours Maximum Marks : 200

Use only black ball point pen to answer questions.
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